Versa

INNOVATIVE COMPUTER FURNITURE

Wall Mount Computer Station Assembly Instructions
WMCS

How can we improve our assembly instructions?
Your comments and suggestions are important to us.

Please e-mail us at: support@versatables.com.

N Leteee eere, Support:
oE | y | ; B\ m Local: 310-353-7100
TIME uantih ' E |
Jersalables.com AR 3' Discol \1?[ ( {?’ .Lw_gl Toll Free: 888-929-0322
V14105 Avalon Bivd. ol 4 mgiis™ 4 y :
Los Angeles, CA 90061 il - Fax: 310-353-7109
9 ' Lifetime Warranty Quantity Discounts  Assembled in USA Fast Shipping Support@VersaTables.com




Wall Mount Computer Station

S0mm Furniture Boll 8mm Fhillips Machine 1/4 - 20 Phillips Head
Screw Balt
J-‘ |
City:4 Oty:4 City:4
LCD Holder 4mm & Bmm Upright Pole Zip Tie & Curly Tie

Allen Wrench

== \H

—

-

Qty-1 Qty:1 Qty:1 - Qly:s
Keyboard Platform Keyboard Bracket Upright Pole Bracket Toggler
l I ' ‘ /
City:1 Oty:1 Qty:2 Chy:6
3B -16 x 1" Socket CPU holder Clamp Bushing
Head Bolt
Qty:6 Qty: 1| | Qty:2
Clamp CPU Holder Mount
Bracket
‘ Additional Tools Required
Qty:1 Qty:1 Drill & 1/2” Drill Bit Phillips Screw Driver
1" 7/8 Velcro Pads - . = —
1 Velcro Loops = B s
1¥Vealcro Hooks h
Qty:2
. ;.com : | . Local: 310-353-7100
1al | 1 : — - - -
14105 Avalon Bivd. o, | N ARG
Los Angeles, CA 90061 '

Lifetime Warranty Quantity Discounts  Assembled in USA Fast Shipping Support@VersaTables.com



i . T

Wall Mount Cnmputer. Station

Step Install Togglers
_ A: Drill a 1/2" hole. Slide Metal Anchor of Toggler through st ol
19997 hole. Minimum clearance behind wall is 1-7/8”. Qe —
t/’ L
) B: Pull end of Toggler until Metal Anchor is flush against
93 inside of wall. Push Plastic Collar into wall to lock in place. /
Dinll &1/2° Bit
!
'l;'.f" C: Snap exposed material off, flush with Plastic Collar. Metal Anchor /
== MOTE: Extra Toggle Bolts are provided
A B C
’ | ¢
[
|
!
Step Upright Pole Brackets

Attach Upright Pole Brackets to the wall using (4) four 50mm Furniture Bolts.

S0mm Furniture
Bolls

I | T 50 mm Furniture Bolt

Oty:3

Support:
- [ Local: 310-353-7100
il : ~igillgl Toll Free: 888-929-0322
: ' Fax: 310-353-7109
Lifetime Warranty Quantity Discounts Assembled in USA Fast Shipping SUPPOFt@VeF88T8b|eS.Com

VersaTables.com
“l* 14105 Avalon Blvd.
Los Angeles, CA 90061



Wall Mount Computer Station
Step Upright Pole

Secure Bottom Pole Holder using (2) 3/8 - 16 x 1" Socket Head Bolts.

318 <16 x 1" Socket
‘ / Head Balt

Step LCD Monitor

38-16x1"
Socket Head Bolt

- Attach LCD Monitor using (4) 8mm Phillips Machine Screws.
amm Fninegs
Machine Screw

Qty:d

8mm Phillips
Machine Screw

Local: 310-353-7100

.com o, — - _
i =lgiigl Toll Free: 888-929-0322
14105 Avalon Blvd. Fax: 310-353-7109

Los Angeles, CA 90061
Lifetime Warranty Quantity Discounts  Assembled in USA Fast Shipping Support@VersaTables.com



Wall Mount Computer Station
Step LCD Bracket

Slide LCD Bracket.

Tighten
T-Know

Step Upright Pole

Secure Top Pole Holder using (2) 3/8 - 16 x 1" Socket Head Bolts.

38-16x1"
Socket Head Bolt

Qty:2
3/8 -16 x 1" Socket
‘ / Head Bolt
com Local: 310-353-7100
: ] i =igilg) Toll Free: 888-929-0322
14105 Avalon Bhvd. : Fax: 310-353-7109

Los Angeles, CA 90061
Lifetime Warranty Quantity Discounts  Assembled in USA Fast Shipping Support@VersaTables.com



Assembly Step-byStep
Wall Mount Computer Station

Keyboard Bracket

4e1s. s Attach Keyboard Bracket to Pole at the desired height/side using (1) Clamp Bracket
Socket Head Boit  @Nd (2) 3/8-16 x 1" Socket Head Bolts.

G

Oty:2

3/8 -16 x 17 Socket
Head Bolt

Step

Keyboard Platform

11820 Phillpe Attach the Keyboard Platform to Keyboard Bracket using (4) 1/4-20 Phillips Head Bolts.

Head Bolt

.

Oty

1/4 - 20 Phillips
Head Bolt

: At " oric, b Support:
VersaTables.com TIME | vantity | Sl % | | a  Local: 310-353-7100
: VARRANTY | Discounts | . — 11 Toll Free: 888-929-0322
WV 14105 Avalon Blvd. y/ a7 4 ompnis® 4 4 :
Los Angeles, CA 90061 Nt — Fax: 310-353-7109
g I Lifetime Warranty Quantity Discounts  Assembled in USA Fast Shipping Support@VersaTables.com



Step

Use (2) 20mm Furniture Bolts.
20mm Furniture
Balt

w5y

Oty=2

O mounting holes

=

loosen and lower

Use (1) Clamps and (2) 3/8 1/6 x 1" Socket Head Bolts.

3|
Qty:1

16 x1"
Sockel Head Baolt

“»

Qny:2

I

Wall Mount Computer Station

Attach mount bracket to CPU holder

Attach CPU Holder At the desired Height.

.com
14105 Avalon Blvd.
Los Angeles, CA 80061

Lifetime Warranty

Quantity Discounts

Assembled in USA

r Local: 310-353-7100
=L Toll Free: 888-929-0322
Fax: 310-353-7109

Fast Shipping Support@VersaTables.com



Wall Mount Computer Station

Step Attach Velcro Pads to both your CPU and CPU Holder.

€

Once in place, adjust Holder and tighten
Veloro Pads — Thumb Nuts to keep CPU secure.

. Velcro
GIY.Z a

Width

- Local: 310-353-7100
il = Toll Free: 888-929-0322
Fax: 310-353-7109
Lifetime Warranty Quantity Discounts  Assembled in USA Fast Shipping Support@VersaTables.com

IS bles.com =
14105 Avalon Blvd.
Los Angeles, CA 90061



